7 000000 25
v ODboooOoo

7.1 0000D0O0O00O0O0O0O0OOOOOOO
0000000000000000000000000000000000
0000000 f(z,y,2)000000000000000 f(z,y,2) =cO0O
000000000000000000000000000000000000
0000000000000000000000000000000
00000 h(z,y) 000000000000 00O00000O00000
00000 h(z,y) =c00000000000000000000000
0000000000000000000000000000000000
ﬂ@%@:cDDDDDDDDDDé%é%é%)#HDDDDDDDDD
DDDD%?%?%;DDDDDDDDDDDngDDDDDD
DD7J(DDDDD)f@wJ)DDDDDDDDDD%i@m%J@#OD
DDD@@%J@DDDDDDDDDDDDDD(myJﬁDDDDmDD
0000000000000000000

0
DDDDDDDDDDDDDB—f(xO,yO,ZO)>ODDDDDDDDDDDD
z
00000 (zo,y0,20) 00000000

[ro —a,x0 +a] X [yo — b, yo + b] X [20 — ¢, 20 + ]

0
DDEg@m%&@>ODDDDDDDDDDDDﬂL%dDzDDDDD
z

gobbooobooboog en

€= min{f(fﬂoy Yo, Zo) - f($07 Yo, 20 — C), f(ﬂUO, Yo, 20 + C) - f($07 Yo, Zo)}

00000000 §0000max{|z —xo|,ly—yol} <0000
f@,y,20 = ¢) < f(wo,yo,20) = 5, Fl@o,y0,20) + 5 < fla,y, 20+ )
0000000000 (2,y)00000000000000 (20— ¢, 20 +¢) O
000 20 f(z,9,2) = f(z0,90,20) 0 0000000000000 2000

000000000 g(z,y) 0000

g(z,y) 0 (z,y) 00O0DO0O0DO0ODO0OO(2,y,9(x,y) 0000000
gbobobobobobobooobobobobobOoboboboobooo
gobobooobobooog

g(z,y) D0DO00D00D0O0D0O0O0O0OD LOOODODOODOODDOODOOOO0
gooogood

19(22,y2) — g(z1,91)| £ L/ (22 — 1) + (Y2 — y1)?

000f(r,y,2) 0000000 (w,0,w) (u? + v> + w? = 1) O
000000000000000000 ¢, 000 ¢ OODOO0OO

(u,v,w) = (cospcosh,cospsinh,sing) 000D 00000000000
gog Y@ ttuntivatie) 0f  0F O nnppooo
dt oz y 0z

0
DDDDDDD4i>ODDDDDDDD(muwﬁ%&QUDDDDDDD

0z
O grad f0O (u,v,w)l:lDl:l gu—l—%v—i—ngDDDDDDDDDDDDD
ox oy 0z




26

_—

071 0000000000O0OCOOCOOOOOOO0OOOOOCOOO0.

000000000000 (wo,w)O (0,0,1) 0000000000000
D¢O§%[MMMJDDDDDDD(mvﬂgzommmmaﬂwwgnagn@
(vo< ) 000000000000 000000000000 f(z,y,2) 00
0000000 (x1,y1,9(x1,y1)) 0000 (22,y2,22) 00O

2o — g(x1,y1) > tannpo\/(xg —x1)?2 + (y2 — y1)?

vooooo f(x27y2722) > f(xlaylvg(xlayl)) = f(x07y07’20)7 ooo

2o — g(z1,y1) < —tan o/ (22 — 1) + (y2 — y1)2

000000 f(r2,y2, 22) < f(21,91,9(x1,91)) = f(20,90,20) 000000
oo g(mQayQ) O f($2,y2,g(1'2,y2)) - f(anyOVZO) oooooon

lg(22,y2) — g(z1,y1)| < tan o/ (w2 — 21)2 + (y2 — ¥1)?

000000000g(z,y) 0 tanp, 000000000000000000
00000000000

00O0g(z,y) 0000000000000 f(x,y,9(x,y) = f(z1,y1,21)
(21 =g(x1,1)) 00000 f(x,y,2) 000000000

f(xl +hayl +k,g($1 +h7y1 +k))

0 0
= f(z1,91,21) + 8—£($1,y1721)h + a_i(xlaylazl)k

0
+9L (a2 g+ by +8) — goa,m)

+e(w1,y1, 21, b, by g(xy + hoyr + k) — g(w1, 1)),

m e(xy,y1,21,h, b, g(xr +hoyy + k) — g1, y1))

V2 + k2 + (g(x1 4+ hyyr + k) — g(w1,11))?

gooooono
g(@1+hoyy + k) = glw1,y1)
0
?(zlaylazl) a_f(fﬂl,yl,zl)
_33“3 h— 5% k—e1(x1,y1,h, k)
&(zlayl,zl) @(zlayl,zl)

oooon

e1(x1,y1, h, k)
VETTE
~e(xy, 1, 21, by kgl + by + k) — g(o, 1))
V2 +E + (g(z1 + by + k) — g, 91))?
« VE2+ K2+ (g(x1 + hyyr + k) — g(21,41))2
WaEe




v Oooooaod 27

00000yg(z,y) DOODOOODODOODOOO

VI2+ k2 + (g(x1 + hoyr + k) — g(z1,91))?

(2 + )
< 2Y(7,2 2y - v\* TR
S V(1 (Gan o)) (0 + K2) = ==
El(xlayhhak)
0000k k) — 00000 ———=——=—+ — 00000000
(h-K) Vh? + k?
of of
@(m ):_a—x(:&yag(%y)) @(x ):_8y(x’y’g(x’y)>
ax 7y 8 ) ay ?y 8

59%%%%@) 5&%%%%@)

ddddoddooooooooooooooooad

000 g(z,y)DOOOOOOOOOOOOOOOOO f(z,y,9(z,y) =cO
DDD%%ggDDDDDDDDDDDDDDDDDDDDf@wg@wnzc
gjooooobbbbbooouod g oo o

goboooboooboobboobboobo

7.2 000000 0OO0OO0OOOOOOOOOOO

000000 f(x,y,2) 00000(grad f)(xo,v0,20) 0000 (zo, Yo, 20)
0000000 f(z,y,2) = f(z0,y0,2) 0000000000000000
oooooo (.%‘Q,yo,zo) gogoood (E(t)ﬂ](t),((t))
((&(to), n(to),C(to)) = (0,90,20)) 00D DODOOODODOO

FE),nt),¢t)) = flzo,y0,20) 00000000000 O0OOOOOO
(&(to),m'(t0),¢'(tp)) 00 0DOD ¢t00DODOOODO
of

%(330, Yo, 20)& (to) + g—g(ﬁso, Yo, 20)1 (to) + g—i(ﬁfo, Yo, 20)¢ (to) = 0

000000000 (grad f)(zo,¥0,20) 000000 (&(to),n (to), ¢ (tg)) O
oo0o,0000b0ob0o0obO0obooO0obOoobooooboboobooooDoo
ggbooboooboooboooboobboobboobbboooboo

0 1o} 0
a_i(x()vyOa z0)(x — x0) + a—i(fﬂoayo, 20)(y — yo) + 8_];(%’%’ 20)(z —20) =0

O0000os50000000000000000grad fOO0OOOOODOO
ooboooobooooon

7.3 000OOOODOOO00O
000000000000D000000000000000000000
00000z, v 2000000000 00000000000D00000

00 22, 42, 22 2y, yz, 22, 2,y,2,100000000000000000

00000000000000000000000000000000000

000O00000D000000

a1 a2 a3\ (= x
f@y,2)=(x y 2)|an ax as y |+ by b3) |y | +ec
a31 as2 as33 z

OO0OOapeo+an U xzy00000000 a1 =0ao; UODODOOOODOOOO
a11 ai2 ais
00000000000 A= |ag ag as | 000000000CO0OOO

asz1 a32 G33



28

0000000000000 bOoDoO P(DODO P lOO0O0OO PrOO0O
0000)000000O0O00o0ooooo®”000

At 00 x X
P*AP=10 X, 0 |. 000000 PODOO |y|l=P|Yy|DODO
0 0 A3 z Z
0000000000 XYZ0OOO
X X
(X Y Z2)PAP|Y | +(by by b3)P|Y | +¢
Z Z
A 0 0 X X
= (XY Z)]0 X 0 Y| +B B B)|Y |+
0 0 X/ \Z A

000000000 (B, B2 B3)=(b1 by b3)POOODODOOODO XYZ
ooooooo

F(X,Y,Z) = MX?+ Y2+ MZ° + 31X + BoY + 337 + ¢

00000 f(z,y,2)=00 F(X,Y,Z)=0000000
F(X,Y,Z)00OOOOgrad FOOOOOODOOOO
grad F = (20 X + 01, 20Y + 32,2)3Z + 35) 0000 00 F(X,Y,Z) =0
00000000000F(X,Y,Z)=0000000000 grad F# 000
0000000
000 Mdds = detA # 00000000000 OgradF = 0 O

fi P2 B3
0000 (-, -2, -2)0o0o0oo0oooo0o0000ooooon
( 2017 2X] 2/\3)
F(X,KZ):ODDDDDDDDDDDDDF(—ﬂ—&—&);«éo

2207 207 2)g
000 F(X,Y,Z)=00000000000000000f(z,y,2)00000

det AA00000000 ¢000 00000 f(x,y,2)=00000000
00000 F(X,Y,Z)0OOooOooooooooooooooooooo
obooboobooboo

B1 2 B2 \2 B3 \2
FIX,Y,Z) =M (X + Z2) 4 M (Y + 22)° 4 05(2 + 2 -
(XY, Z) = M ( +2/\1)+2( +2,\2)+3(+2,\3) +c—co
2 2 2
EJ[I[IEJ[IIZII][I[IIZIEJcODDcozﬁ+ﬂi+ﬂiDDDDDDDDDDD

4N 4de  4)g
0000000000000 oU0oUooUOoooooDoooogaN > 0,

A >0, A3 >000c—¢ >0000 FX,Y,Z)0OODOOOOOODO
F(X,Y,Z)=000OUOOOOOOUOOODODOOODOOODO ¢o00O0OD0OOO
dooooboooboooobooobooboooboobobooboooboono
gooooooad

oo UoUUggo b o
oo obooooooooad
oooooooooooooooo

000000000 MA#£0, =008 #0000000000000
O0grad FOOOOUOO B3000000000000000000000
gooooooo

A
B

2 2
(X+2ﬁT1>2__(Y+_)2+ B1 + B2 +C
1

7 = =
4831 4B3X2 B3

oooo



v Oooooaod 29

073 000.

AODOO A, M, A3, 00000 By, B, /0000000000000
00000000000000D000000000
0000000000000000000000000000000000
oooooooo

MAds=det A£A00000 grad F=0000000000000000
000000000000 XYZO0OOOOOooooooo
MX2+ Y2+ 03722 =cy—c00000000c—c#00000000

A A
00000000 X000,/|-——|ooyooo ,/|—=2-|00Z0o00
Co—C Co—C

,H@%JDDDDDDiX%H”iZ%ﬂﬂDDDDDDDD+++D
000000+ +-00000002%2-%?=10200000000000
000000000+ -—--000000022—y?=10y 0000000
0000000000000000000000000 7200000000
000000000000 0000000000000000 73000
MM #0,X3=0p#00000000000000000000000
00000Z=4+X?4+Y?200000000000000000000000
0000D00000000D0D0000 530220000000

0
0 7.2. 000000 f(z,y,2) 0000 —f(:co,yo,zo) #0,
o7 o7 0z
6—($0,y0,2’0) = 8—(I0,y0,2’0) =0000000 (Io,yo,ZO) goOooooo
T Y
0%g 0%g
0x2  0x0dy
00000 g(z,9)0 (20,9)000000000 | 95 %Y | 00000
oxdy  y?

0 73. 000000



30

074 0 73000.00000000000000000.
[y, 2) = (2% + 9 4+ 2° 4+ 24)* — 4((4z + 32)* + (59)°)

ooooo

(1)f(z,y,2)=000000000000000000000
00000000 22442 +22=N2000000 NOOOOOODOOODO
O f(z,y,2)>00000

2)f(z,y,2)=0000000000000
0000f=0,gradf=0000000000000000000000
4f(ac,y,z)—x—x(x7y,z) —y?(w,y,z)—z%(m,y,z) Oooooooo

(3) 00 0+(4,0,4), £(4,0,2) 00000
J(zo0,90,20) =0, 5(3307?/0720) #0, %(xoaymzo) = g—f(xoayoyzO) =00
DDDDDDDDDDDDDD(my@DDDDﬂayjzoﬂDDDDD
00000 yg(x,y)0DODODODODOO

8§ DOOOOO

8.1 U0O0O0OO0ODOODOODDOODODODOOOOOO
gododdodddddddddoodoooooUoooDoooooobooooa
D000000000000000000000 E(),(t),¢(t)0000n
000000000000 0O00O00D000DO0O0ODODDOUO0ODO T(s)00OD
O¢t=7(s)0000000000 (£((s)),n(r(s)),¢(r(s))) 00000 OO
DDDDDDDDDDDDDDDDd—;#ODDDDDDDDDDDDDDD
gooad
oooooooooooooooooobooobobobobobooooooooao
gD oOooa
godddddddddddgoogbuooood
det(an am);éODDDD<m):<an alZ) <X>DDDDDDDD
az  az Yy az; az) \Y
000 (2,9, f(z,y)) O
(a1 X +a12Y,a21 X + a2y, f(a11 X + a12Y, a21 X + az2Y))

000000000
0000000000000000000000000000000000
00000000000000000000000000000000

0000000000000 00000000000000000000
0000000000000000 (s,¢)0 (z,y) 000000 (z,y) 00



